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How I worked on the problems 

TryAPL Mastering Dyalog 



TryAPL 

● Easy to start  

● Easy to use 

● Keyboard/Backt ick 

● Primit ives list  

● Persistent sessions 



Mastering Dyalog APL 

● Syntax 

● Understanding 

● Examples 



TIO APL? 

Didn’t  know. 

Probably would have used it  extensively. 



It  was an 
enjoyable 

experience. 



Problem 3, Phase I 
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How can we do 
bet ter using  
Dyalog 14? 



Healthcare, Phase II 
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taking  d rug  B 

taking  d rug  C 

in re m ission 

that d ie d  
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Random 
 
mont hl y 



Xnew ← ∆ (+.×)  X 

          Changes 

        Populat ion 



X   ←  

A 
B 
C 
r 
d 



∆   ←  

A B C r d 

0.7 0.3 0 0 0 A 

0.3 0.3 0 0 0 B 

0 0 0.2 0 0 C 

0 0.4 0.7 0.9 0 r 

0 0 0.1 0.1 1 d 



Y ← ∆ (+.×) (⍣12)  X 



∆  ←  

A1 A B C r d 

0 0 0.3 0 0 0 A1 

0.9 0.6 0 0 0 0 A 

0 0.3 0.3 0 0 0 B 

0 0 0 0.2 0 0 C 

0.1 0.1 0.4 0.8 1 0 r 

0 0 0 0 0 1 d 



… + ∆. ( n2 + ∆. ( n1 +  X) ) …)  

( ∆ ( +. ×)  +)  ⌿ …,  n2,  n1,  X 



Y ← ( ∆ ( +. ×)  +)  ⌿ n,⊂X 
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